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Mathematics
Section Number : 1
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Section Marks : 80
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 1 Question Id : 813561161 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If a line makes angles 90°, 135° and 45° with the positive directions of x, v, z axes
respectively. then its direction cosines are

28 DOY0D ¥, v,z BTL GHOIVSE 90°, 135° Hodokn 45° Erren Binet, &8 Love
aws), &5 Epdy

Options :
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Question Number : 2 Question Id : 813561162 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

The equation of normal at (1,1) fo the circle x> + v? —x =3y —4=01is

oyt —x—3y—4=0 3508 (1,1) ¢ o edecbs p¥tndw

Options:

1¢x-|-.‘_;?—2=0

o8 2x—y—1=0

4 % X—y—2=10

Question Number : 3 Question Id : 813561163 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

f@+b+c =0and la] =3, |F| =5, [c] =7 . then the angle between @ and b is

T+b +7 =000 [7]=3, [b] =5, [€]=7 vawd. 7. b o axj Smido

Options :
1 % 30°
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, % 120°
3. % 90°

4 v 60°

Question Number : 4 Question Id : 813561164 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

_ o ox?+34x-71 — , .
If x 15 complex. the expression CYTTE takes all values which Le in the mterval (a, b).
X X

find the values of a and b

x2+34x-71 |
Frzno7 0 dude ©J) (a,b) God6a0s’

&oR). oA, a,h © Jenden

X 28 %088 Roa] BOVIYE

Options :
g =—1. =i

2. %
3\_},{1:5, h =9
4Hn=f} h =5

Question Number : 5 Question Id : 813561165 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Locus of the centroid of a triangle whose vertices are (1,0). (acost,asint),
(bsint,—bcost) is 9x% + 9y? — 6x = k. Then the value of k =
(1,0). (acost,asint). (bsint,—bcost) %g“wn“ 0 Bz SoerR)
DocdDEA 9x? + 9y — 6x = k o0, k =

Options :

| % a’ + b?
Zlq,az—kbz—l
3 % @@ +b*+1
4.% 0

Question Number : 6 Question Id : 813561166 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The length of the diameter of the circle x? +y2 —6x —8y =0 is units

? +y% —6x — 8y = 0 3 Ffosw T 030w

Options :

1.% D
5« 10
5 % 15

4. % &0
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Question Number : 7 Question Id : 813561167 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical

jx"f +x2 41

dx =
x2—x+1 *

Options :

1 1
(?) AR (?) R B
1. ¢

Question Number : 8 Question Id : 813561168 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

If P and Q are two non-zero square matrices of the same order such that the product
PQ = 0. then

PQ =10 E‘Jdi.)é?.?‘ P, 0 w0 28 S008S Bodd %\J"?ﬁééiﬁ WY Sr@sen o,
9ED

Options :

1. #
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Exactly one of them must be singular
P\ 208) &) I TToes SHSS

Both P & @ must be singular

5« P,Q 0 Bolr IO JATASe0

Both P & Q must be non-singular

. P,Q o0 Botiyr Frpetes Srasen
3. % i

None of the options are correct

4 v DO 0BIR e T

Question Number : 9 Question Id : 813561169 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The function f: R — R defined by f(x) = is
1+x2

f:R—> RS f(x) = 90D, f HAOHIW

X
Vit+x?
Options :

Surjective but not injective
L oD 57 BBLEIN S

Bijective
5 % ALAE D200

Injective but not surjective

(S50 5° DoRBN TGO
3.¢ =
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Neither injective nor surjective
L, BRSA0 5ED B3 VodRDW ST

Question Number : 10 Question Id : 813561170 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let M and N be two matrices over R of order 2. Then MN = NM if

M, N &0 93 0gf0a) Sarosaneurr (v 2 X 2 ardsw MN = NM BT (Lol

Options :
One of M and N is a diagonal matrix
M 58050 N 06° 2,66 D6 J-as

Both M and N are diagonal matrices
M, N &0 Cotd asg P bl XT={ V]

Both M and N are invertible matrices
M, N 20 Goc De5°20d0en sAD Ao-dgen

None of these options are true in general
FTOELAALT S 2T da) N8 5°D)

Question Number : 11 Question Id : 813561171 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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x—

fjms(l%r) — cos(14x) i sin{4x) sin(5x)
1+ 2 cos(9x) a b

+ ¢, thena? =

= +c R, a’ =

cos(13x) — cos(14x) i sin(4x) sin(5x)
j 14 2 cos(9x) a b

Options :

1w &

5 % 5

3 % 4

4 % 5

Question Number : 12 Question Id : 813561172 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

d — 43
dx o 27 =5 &

Options :
o

V9—x2
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CV9—x2

Question Number : 13 Question Id : 813561173 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
2 . | 5 gl
A man. 2 m tall. walks at the rate of 15 m/s towards a street light which is 55 m above the

ground. The rate at which the length of his shadow is changing when he s 3 5 M away fron the

base of the light 1s

2 Dot e 110 2 358 5= m o (o 6 o0 DY 12 /5 B0 AT . B

Rosdrr s ag m (606" & 318 69) ) ©8D D D 500 SHRAI0B/Sr@ss?

Options :

1w —1m/s

5 % 2 m/s

3 % —2m/s

4 % 1 m/s

Question Number : 14 Question Id : 813561174 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If x + 5 = 015 the directrix and (—3, 0) the vertex of a parabola, then equation of

this parabola is

x 45 = 0 Qobeddorrar, (—3,0) %‘gm)rwm (D DT VD DLEIA

Options :

1'2— ;
Lo VE=8(x+3)

5 % y2 = 8(x — 3)

- x2=8(y+3)

4. ® e = 8(}" —3)

Question Number : 15 Question Id : 813561175 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If ¢,¢,,03,04,05 are arbitrary constants, then the order of the differential equation whose

T W B - Xtes .
general solution1s y = (¢; +¢,)sin(x +¢3) +¢e 71

€ €5, €4, 0h cc DD 00 RofOLy ¥ = (¢ + ¢y) sinx +¢3) + et Foron Fodm

K 350D DAEGERT) JOAD

Options:

1.v 3
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Not detined
) Dd&tﬁoﬁmdﬁm
4. %

Question Number : 16 Question Id : 813561176 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of tangent to the curve y = 5x% — 3x + 7 at the point (—1,4) is

y=5x2 =31 +7 35708 (—1,4) Dochid) 56 ffe 6,08 HoEGmD

Options:

_— 13—y —9=0

, x 13x+y—9=0

o Bx+y+9=0

4% 13x4+2y+5=0

Question Number : 17 Question Id : 813561177 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

On an n X n chessboard, the total number of rectangles which are not squares 1s 350. Then
the number of white squares on the chessboard 1

n X n BeGory ew o6 S6RA 51 &gﬁmd@;ﬁnm 350 &R) awd, 8eborh
DR BedudRAavY Roa)y

Options :
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| x 32
5 % 50

3. v 18

Question Number : 18 Question Id : 813561178 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Suppose 4, B be two events such that P(4) = 0.9 and P(B) = 0.8 and P(AN B) = 0.7,
Then we can conclude that such a case 1s

A,B 0 B0t 200300 P(4) =09, P(B) = 0.8 3080 P(4 N B) > 0.7 ke
6o, T8 Bod) DD ATBersrivN?

Options :
Always true

1@ DD REARD

Albways false
DD 2OAE

Not true in some exaimples
E) &rrronus” Jaa0 57

True only m some cases
E) PogTH0e” Sm@d0 Jasdw
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Question Number : 19 Question Id : 813561179 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The image of the point P(3, 8) with respect to the line x + 3y = 7. assuming the line to
be a plane mirror. 1s equal to

x4+ 3y = 7 2OFODAD 2,8 ddode ©dorr PR, Wotd)” P(3,8) pddeeo

Options :

) x (-1, 4)

o C1,—4)

Question Number : 20 Question Id : 813561180 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Equation x°® —5x* +5x%* —1 =0 has equal roots

x5 —5x3 3+ 5x2 — 1 = 0 2doeserdd RATD Bureren &I o

Options :
o

1. %

2.4 3
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(] |

Question Number : 21 Question Id : 813561181 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

_ . am
Let z,. 7, be two complex numbers such that z; — iz; = 0 and arg(z,z,) = e then arg(z;) =

3 .
Z; 00080 z, Tothd ‘&ogg Roew. Z; —iz; = 0 B0k arg(z;z,) = Tﬁ oo, arg( z;) =
Options :
T
1.% 4

—iIE
2. % 8

o | A

-;.ul;:]

Question Number : 22 Question Id : 813561182 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If the axes are rotated through an angle 45°, then the co-ordinates of the point (4\;"3, —6\,@

i the new system are

PO 45° ol FmeSobrr D6\E E8 vz Gy (4/2,-6/2) Asrosew

Options:

, o (-2,-10)

L« (10, 10)

Question Number : 23 Question Id : 813561183 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

— 3 — — FE T . —3 —3 — S5 —_—
If a,b,c andr are vectors such that a 1s not perpendicularto b .7 X b =¢ X b
—_—— _
and r.a = 0thenr =

Options
R L

1. % (p-a)

> % (p-a)

3. ¢
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. (g-a)—
NCE
= T i)
b Fe i
4. % (b-a)

Question Number : 24 Question Id : 813561184 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Differentiation of (x2 —5x +8) X (x> + 7x +9) can be done by

(x% —5x +8) x (x* +7x 4 9) wdgvnim & Sob 8" D Ardiw ot Atdotsiidy?

Options :
Only by using product rule
VTSI T(O° bl b

Only by obtaining a single polynomial. expanding it
28 eTVDOD Tol, T DABeLL DT Hrda

Only by using logarithmic differentiation

. PoDBIATR VISVT LW WT° SIG
3. % s

All of the options are correct

D) 2T VT VOADDD
4. &

Question Number : 25 Question Id : 813561185 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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The common tangent to the parabola y? = 32x and x* = 256y will be
y2 = 32x Abodw x? = 256y HTPSLOETrVL ﬁ;ﬁ)&& 26,08

Options :

Lo 2X+4y+64=0

, % X+2y—32=0
3 % 2X+4y+32=0

4 % 4x +2v+64=0

Question Number : 26 Question Id : 813561186 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Solve I, + nl,, 4 if I, = "(Enx}n dx

I = f(:lnx')ﬂ dx eawd, I, +nl,_; =

Options :
x(nx)" 14+ k

5 x(Inx)" +k

(lnx)"

3.8 X

+ k
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[ln .JC"} n—1

Question Number : 27 Question Id : 813561187 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many functions f:Z — 7 are there such that f(x + y) = f(x) + f(y) forall x, y € Z?

fL-T 000 f(x+y)=fx)+f(y), Vv € Z Qo Fotd Le00H0w
'rboa.‘)?ﬁ

Options :

1.% 1

Infinitely many

4. 9308

Question Number : 28 Question Id : 813561188 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(3+21)(4—71)(12+ 131)
Ix iy =7 = ' ( — . then x? + y?% =
(13 — 12i) (2 — 3i) (11 + 3i)

(34 2i) (4 — 70) (12 + 1310)
(13 — 120) (2 — 30) A1+ 30)

x+iy= oD, x%2+y? =

AP EAMCET 2020
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Options :

1.% 1

Question Number : 29 Question Id : 813561189 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The function f(x) = sech(x) on R has the range

f(x) = sech(x). x € R Hoodhaw :.1“533
Options :

(0,)

1. #

, o (0,1]

Question Number : 30 Question Id : 813561190 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020
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Orientation : Vertical

A kind of bacteria grows by 3 in t seconds. Time taken for the rate of growth of the bacteria
fo become 1200 per second 1

8 G303 ErgBatr ¢ REWVY’ 1 DA, & ergbasrd )@ B 2808 1200

&*Jbsmﬁé Do V00D DEBE?

Options:
10 seconds
1 % 10 280w

20 seconds
7 20 s

40 seconds
3 % 40 2SR

400 seconds

4 % 400 DSB0R

Question Number : 31 Question Id : 813561191 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1
2x
fSin‘l( ) dr=
1+ x2
B

Options:

w—log2

1. %

5 % w+ log2
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m
— —log 2
3.¢ 2

Fia
— + log 2
4% 2

Question Number : 32 Question Id : 813561192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

i

j 8log(1l + x)
1+ x2

X =
0
Options :

- i log 2

e
) L]
2. % 2 =

i
- 10¥
3. % 4 =

4 % log 2

Question Number : 33 Question Id : 813561193 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
tan9® —tan 27° —tan 63° + tan 81° =
Options :

AP EAMCET 2020
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Question Number : 34 Question Id : 813561194 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

FIx14+2x2143 %314 ++nxnl=11! -1, then the maximum value of "C, 13

IXU+2x214+3x 3+ +nxnl=111-1 wans, "C, oinsbﬁﬁgbma

Options :
1 % 462

, @ 252

5 % 162

Question Number : 35 Question Id : 813561195 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The mean deviation about the mean of the set of first ‘n” natural numbers. when ‘n” 1s an
even number, is equal to

000, Q068 ‘n’ DR Ro8(R) 060 Cﬁ‘;,-a"é S0EE0 Qe =

Options :

,lﬁﬂ

Question Number : 36 Question Id : 813561196 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

qx
If lim (l . ?p) = e? where p,g € Nthenp + g =

X300

qx
pq EN oS lim (1+2) =e” wowd p+g=

X—+00

Options :

3. % 81
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4, % 18

Question Number : 37 Question Id : 813561197 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A die is rolled three times. The probability of getting their sum equal to a prime number of
the form 4n + 11s

8 08 3 T BPoTtd. T D6 SR o8 AP 41 + 1 ErOR0G D) w8
f’gc_:“éﬁ“‘n:oaas eareIs) mmp

Options :

1

11
36

Question Number : 38 Question Id : 813561198 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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L

If n 1s a positive integer then Z r.C, =

r=1I1

H
n & f‘.;_jug“os“.ﬂjé Z r.C. =
r=1

Options :

n—=1

1.% 2

5 n2%1

~T+1
3 % n 2

) 2n+1
4. %

Question Number : 39 Question Id : 813561199 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a triangle ABC (shown in the figure below), state whether the following are true or false

408 BPd ABC QR0 & 300D AT 58 3Vt

C > 23 3 >

(i) AB+BC+CA=0

2 2 =2 =

(ii) AB+BC—-AC=0

- =2 =2 =

(iii) AB=CB+CA=0

2 2 =2 =2

A B (iV}HB'l'BC‘CA:ﬂ

Options:

AP EAMCET 2020
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(1)- True. (11)- True. (111)- True. (1v)- False
- (1)- Q2350. (11)- Q23a500. (111)- D230, (1V)- wmgm

(1)- True. (11)- False. (111)- True. (1v)- False

2.

. (1)- D23, (11)- wmcé;ﬁw. (111)- Q23a820. (1v)- Eﬂmg;im

(1)- False. (11)- False. (111)- True. (iv)- True

. (1)- wmg;i.u. (i1)- wmgm. (111)- Q22530 (1v)- Q2200

(1)- False. (11)- True. (i11)- False. (1v)- False
(1)- e9806had0. (11)- Ad22a200. (111)- e283¢5a200. (1V)- 98265000
4, ® @ @ =

Question Number : 40 Question Id : 813561200 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

20
If the m™ term is the middle term in expansion of (¥ ——) . find co-efficient of T, ,a.
P 2% m+3

20
(4 =) Dioomae” oy ocssoo md 365800 O, T, DAVE'D o

—

2x
Options:

20 ~ 13
L 2

AP EAMCET 2020
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Question Number : 41 Question Id : 813561201 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The function y = Sin~*(cos x) is not differentiable at

y = Sin"!(cos x) € 208 D Do) JG BILVADO STE?

Options :
m only
1w T TS

2 only

, w2 B

—2m only

L u —2m 3G

All options are correct

E_‘J:};L 2TreRTT DOLDND
4. i

Question Number : 42 Question Id : 813561202 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Roots of the equation x* — 3x? + 3x — 9 = 0 are

x® —3x% + 3x — 9 = 0 B, Hrerew
Options :
13 1+20, 1+20°

AP EAMCET 2020
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o u BTl 1=l

w3 2-w 2-0°

4 % L 1+20, 1+ 20?

Question Number : 43 Question Id : 813561203 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If % (tan (i) + cot (i)) =vVal+a++a.thena =

1 i okt T - e OO -
5 (t:—m (;) +20k (i)) =va*+a++Va oo, a =

Options :

Question Number : 44 Question Id : 813561204 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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1%3 1x3x5

1
I e=r= . A -
¥ =5 T 5x10 T sxioxis | then 3x° + 6x

1x3 1x3x5

1
XN =—F——— F————— F e 900, 3x% + 6x =
5 t 5x10 t 5x10x15 T +

Options :

1% 1

). v 2

Question Number : 45 Question Id : 813561205 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . X
1—sin >
lim

& (CDS%) (ms%— Sill%} J

Options:

fl |
R3] =

-
Mll s
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Question Number : 46 Question Id : 813561206 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distance of the plane 2x — y — 2z — 9 = 0 from the origin 13 niits

Sarodotd) Aot 2x —y — 2z — 9 = 0 derds fo dréaw Qdorr At
Options :

1.¢ 3

2. % V3

Question Number : 47 Question Id : 813561207 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of the tangent drawn from any point on the circle x* + y + 2gx + 2fy + ¢, = 0
to the circle x% +y* +2gx + 2fy + ¢, = 013

x2 4+ y2 4+ 200+ 2fy + ¢ = 0 80 Dd DB Do) Wod 1% +y2 + 291 + 2fy +
0= 0 )80 B8 A 016102 T dods?

Options :

1.4
AP EAMCET 2020
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Question Number : 48 Question Id : 813561208 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 3x + v+ k = 01s a tangent to the circle x? + y2 = 10. then k =

x* 4+ y? =10 3708 3x +y +k = 0 28 Dy6y0 owd, k =

Options :
1. % + 7

Question Number : 49 Question Id : 813561209 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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AP EAMCET 2020

sin 7rx] x ; . .
+ —— where [x] denotes the greatest mteger function, the domain and
1+x]  243x

range in R are respectively

For f(x) =

sinm|x]

: % X
Fiiy= o + PR (w86 [x] (82 PG R0y DT ArQY0d). f PR0HANHL

00T BB DBAK T

Options:

, R0 & R—{%}

, x B=[-10) & [-11]

Question Number : 50 Question Id : 813561210 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equations of tangents to the circle x2 + y? = 10 from the point (4, —2) are

(4,-2) Doty o) x% + y* = 10 e A 26, Saw HAEBEFL BUDE.

Options:
FEy=2,.38F2Zv =16

1. %

> x x+y=18,3x—y=4

3_ﬁ/3x+3?:10, == Ryr=11)
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Sy —=4%. ¥fy=1

Question Number : 51 Question Id : 813561211 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If log(x +v) — 2xy = 0 then y'(0) =

log(x + v) — 2xy = 0 e9020&, y'(0) =

Options :
1% 2% +1
2w i1
3. % 0

4% 27

Question Number : 52 Question Id : 813561212 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the mean of 100 observations 1s 50 and their standard deviation is 5. then the sum of
squares of all observations is

100 HR0de 3648080 50, 2080k Fareds Dswdaw 5 wand HiTed Sgo
20830 =

Options :
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| % 50,000
, % 2,50,000
3 v 252,500

4 % 255,000

Question Number : 53 Question Id : 813561213 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Length of the perpendicular from the origin to the plane passing through three non collinear
points with position vectors @, b and is

7, b 8050 T e HEDALAVL 52 AP Dot 0B, & Do dood
T2 A% Sredotd) Aol Ko Vot GFrEHAY =

Options:
N |

2w 7
2[la b €]
v [@xb +b'x¢ +Txa]
[@ b <]
4w |@xb + b xc + T xa
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Question Number : 54 Question Id : 813561214 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

cos3(x)
. e A
J sin?(x) 4 sin(x)
Options:

| % log |sin(x)]| + sin(x) + ¢

, % log |sin(x)] + cos(x) + ¢

3 % log |cos(x)| — sin(x) + ¢

4. log |sin(x)| — sin(x) + ¢

Question Number : 55 Question Id : 813561215 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the reminder of 2x3 — 5x2 + 7 when divided with (x — 2)?

2x° = 5x% + 7 &0 (x — 2) B erhodd) > 300

Options :
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Question Number : 56 Question Id : 813561216 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the latus rectum of a hyperbola through one focus subtends an angle 60° at the other focus,
then its eccentricity is

2,8 ONIHTIVAITNS (L w8 T Lot S T ag 60° §'eaiw 3R, TR e@boga:
Options :

1. % V2

2. % Vo

Question Number : 57 Question Id : 813561217 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Letters of the word ‘GOVIND’ are permuted and arranged as in a dictionary then the number
of words that appear after the word ‘GOVIND is

‘GOVIND” 98 62500658 89§ 600080 0} D0V 208y 88 DEIVVAD ALY
gAoawd’ 2:200,® ‘GOVIND' 60 S8 ol B0V Roa)

Options :
1 % 519
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, % 510

Question Number : 58 Question Id : 813561218 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the two circles (x — 1)2 + (y = 3)? =r? and x% + y® — 8x + 2y + 8 = 0 infersect in
two different points. then what can we conclude about 17

(x =1 +(y—3)* =r® daw x* +y* —8x +2y+8 = 0 dyzrew D&
DodHos” Pototrygiots, RN T f80t) Dl Qgﬁoéﬁvhﬁ?

Options :

Question Number : 59 Question Id : 813561219 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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w4
" x3 sint(x) dx =
—/4
Options :

1.+ 0

4332?!'

Question Number : 60 Question Id : 813561220 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Product of all real values of *h” such that there is no solution to the system of equations 2x +
5y+z=19. —4x+by+6z=—-42, -3y—bz=811s

2045y +2=19, —4x+ by + 62 = —42, —3y — bz = 81 2 gm0 BB,
‘b’ a0, E.‘):)J TRH DAY VLAY =
= LA

Options :
1. % —30
0 ® —48
3 v —24
4 % —18
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Question Number : 61 Question Id : 813561221 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A box contains 4 defective and 6 good machines. Two machines are selected at random without
replacement. Find the probability that both the machines are good.

WS b&gé‘ 4 BET0ND 208050 6 20w CodEe aélﬁ), = ::egmod Gotl) Godwea
SEWT (823 aedas &bh 20 B} Do) &9, 2 Bot) oAV 260 L
moequg@ SO0

Options :

1

1.% 2

Question Number : 62 Question Id : 813561222 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The line x + y = 1 meets the lines represented by the equation y* — 6xv? + 11x?y — 623 =
0 at the points P, Q, R. If 0 is the origin then (0P) + (0Q)* + (OR)* =

x4y =182y —6xy? + 11x%y — 62° = 0 804 P, ), R Dothopods’ p0civoed. 0
S0redetd wrdd (0P) + (00)? + (0R)? =

3 W
4. % 72

Question Number : 63 Question Id : 813561223 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If origin is the centroid of the triangle PQR with vertices P(2a, 2,6). Q(—4,3b,—10) and
R(8, 14, 2c). then the values of a, b, ¢ respectively are

P(24,2,6), Q(~4,3b,~10) 20808 R(8,14,2c) Dockd:en POR dzonsn Jgren. &
Sz Soderae Aredetdd) BoN®, a,b, ¢ JunHw HERT

Options:
16
e
1. ® 3
2. %
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16
=P e D
3
16
—2,——,2
3.v 3
16
-2, — .2
4, % 3

Question Number : 64 Question Id : 813561224 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following pair of straight lines intersect at right angles?

& S0& 5&,3“::::&31'?&1:95‘ AT L0288 A530), B BP0 ?
Options :

| @ 2x2 =y(x+2y)

L v Gt 9)? = x(y +30)
% 2y(x + y) = xy

3

4 % ¥=12x

Question Number : 65 Question Id : 813561225 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If the vectors ai + j + k.i+ bj + kand i + j ¥ k are coplanar, where
1 1

' : 1
(a,b,c # 1) then the value of - =3 - % ——

abczlo®ai+j+Fk i+bj+ k280w i + ] +ckenvedoiros,
1 1 1
1-a 1-b 1-c

Options :

1.“*’32

Question Number : 66 Question Id : 813561226 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T . (d? AT
The product of the degree and order of the differential equation (d_::;) — (d_i) =ydis

dz}’ 2 dy 3 ;
—) —(52) =) esses 2RLSER HBAFHAN SO BEriBL VRS __
X X i

Options :

1.333
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Question Number : 67 Question Id : 813561227 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T :
Let u, v and w be three vectors in R”. Then any vector Z € R® can be written as z = au +
bv 4 cw for some scalars a, b and ¢ if and only 1f

R® & 1, v 208050 w en H6%ew Z € R? DB 063, DB edsen a,b,c v 7= au+
bv + cw 93(©0d) B853(SHD. DO BOND AR
Options :

Each pair of u, v and w are not parallel

U, v, w e e D 0ot de) DOFL DIAToGBGALL 5°D)

Each of u, v and w can be written as a linear combination of the other two
i, v, w e &5 DA 2,58 ADD Gody BV Aer Vool o,

All have different magnitude and directions
wb‘l PEID 2 Qi}e‘{aﬂl SArHanen Sdasn :‘De‘;mi H%en eotd

Nomne of the options are correct
D 2are) PO 57

Question Number : 68 Question Id : 813561228 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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. . . P q
If the roots of the equation ax?® + ax + ¢ = 0 are in the ratio p ¢ ¢. then J: + \/::
A\ 4 p

ax? + ax + ¢ = 0 HDEGEA CR08); SIPVV P ¢ g 33’.13@95‘5 Gokl, \E + ‘E =

Options :
{12
1. ¥
28
2c
2. %
a
[.'
3. v
az
2¢
4, #

Question Number : 69 Question Id : 813561229 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The polarof (1,—2) withrespectto x% +y2 —10x — 10y +25=01s

x4 y% = 10x — 10y + 25 = 0 Syd50 syary (1,-2) Dockoxy cng), )36 =

Options:
1% X +7y+30=0

) w4x+7y—30=20
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3 % 4x—7y+30=0

4.5 Xx+ty=0

Question Number : 70 Question Id : 813561230 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The lines represented by ax® + 2hxy + by* = 0 are perpendicular to each other, if

ax? + 2hxy + by? = 0 HE6rAD Ardel GO Votol GokEIS DAV

Options :
|« hP=a+b

zg,a-i-b:[}
3 o h*=ab
4.;5 h.:ﬂ

Question Number : 71 Question Id : 813561231 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. 1
If secl = m.tan6 = n. then —[7” tn+ m+n] =
m

. 1
e o —fm+n =
sec = m. tan 6 = n AN, m[ tn+ m+n] =
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Options :

1.@'""5l

Question Number : 72 Question Id : 813561232 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For M = E :ﬂ and for any n € N the matrix M"™ — M" =
n €N H08a3n M = [i’ :ﬂ g M™ _M" =
Options:
2 4
1 -2
1. #
2 —4
P =2
2.
2 —4
1 2
3. %
1 2
4. %
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Question Number : 73 Question Id : 813561233 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If PO+ 0Q = QO + OR then

PO+ 0@Q = Q0 + OR 00

Options :
@ is the midpoint of PR

. PR 2065 Doco 0

Q divides PRin 2 : 1

L« PR Q Qoo 2 1 iy 36" Dasziaoods

Q divides PRin 1 : 2

L x PR Q Dot 112 Jiy3S° Dzeiood

Q divides PR in —1 : 2

4 » PR Q Dot —1 : 2 D& 9" Das2iposd

Question Number : 74 Question Id : 813561234 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The content of the 3 boxes are as follows. If One box 1s chosen at random and three balls are drawn
from 1t and they are all of different colouss, find the probability that they come from box 27

» Box : contains 1 black. 2 white, 3 red balls, and
» Box 2: contains | black. 1 white, 2 red balls. and

» Box 3: has 5 black. 4 white. 1 red balls.

07 DY L10de) S DGV PR 2. TGRS 2,8 DL ot & Aol
J07E RodIRD BRKYE B DD dorben (0 Lodien BaN. B, A DY 2 Aod)

SRND Gob) v ‘hof;“;ﬁéeﬁ Dodh?

r 08 1 28 DR, Gt SR, MTE JER) Wodiew
F 00 2 08 AR, S B, Tot) JAR) Lodued
F 08 3 0 S0, Trurb BLR, 8 JOR) todoed

Options :
9

15
29

Question Number : 75 Question Id : 813561235 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The coefficient of x*° in the expansion of (1 + )% 4 x(142)* + x2(1 4+ x)"8 4 o0 4 2100 §g

(14 2100 4 x(14 2 4 221+ 1) 4 w0 4 11000 Dsads” 10 otasedn

Options :

1000 -~

999
C
1000
C

1001
4. CED

Question Number : 76 Question Id : 813561236 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

LetP(n):2+2%2+2%+..+2" = 2" pn € N.Then

nENESDPMH)2+224+234..42" = 2" poomd,

Options :
P(m) is true = P(m + 1) is true

| Pn) da20d = P(m+ 1) dasordo

P(n)is true foralln EN

5 % P(n) daswv Vn EN

P(n)is true for all n = 20
3 % P(n) Qado Vn =20
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P(7)is true foralln = 10
4 % P(n) Qadw Vn < 10

Question Number : 77 Question Id : 813561237 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the modulus of the complex number (1 + 2i)(—2 +1i)?
(14 20) (=2 + 1) 03¢ Do) VL), JTDAD
Options :

1.% VO

Question Number : 78 Question Id : 813561238 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A light ray emerging from a point source at A(2, 3) 1s reflected on the y-axis at point ‘B” and
passes through point € (5, 10), then the co-ordinates of ‘B are

4(2,3) Doty &oc 0Dendda w8 S68AD y-95o D& ‘B Dotded) 96 DBHEHA0
BB, C(5,10) Doty ot Tehod. ©an®, ‘B’ Dot NErosey

Options :
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1% (5,0)
2.v (0,3)
3. % (012)

4 % (2,0)

Question Number : 79 Question Id : 813561239 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The sides of an equilateral triangle are increasing at the rate of 2 cm. s~ How fast does its
area increase when its side 1s 10 cm?

28 DAETIV GZO2Y) Zoad0 TE) PENL 2 om WD DS, Zozaw 10 cm
O, SRR STV 200 58w aodh?
Options :

| 10v3 em2.s71

5 % 5v3 em?. st

3 % V3 em?.s7!

4 % 2V3 em2. 871

Question Number : 80 Question Id : 813561240 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

: : . dy :
The integrating factor of x = +3y = x? is
X

d
X ﬁ 13y = 12 HDLEETIS DATLOD AEEaD

Options :

3
1.2 %
> % logx

3
3.v *
4. % X

Physics

Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions: Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 813561241 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

When a weight of 10 kg 1s suspended from a copper wire of length 3 m and diameter 0.4 mm.
its length mcreases by 2.4 em. If the diameter of the wire is doubled. then the extension i its
length will be

TE 3m, T 0.4 mm o 28 Th 8180 10 kg erdindy Serdd, o JEH
2.4 cm DBARG. &5 &Y 353“3{1 00w BRMLONE, T TeDY” FAE Y.

Options :

1 % 9.6cm
> % 48cm
3 % 1.2 cm

4 0.6 cm

Question Number : 82 Question Id : 813561242 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Two vessels A and B contain oxygen. The volume of B is twice that of A. the pressure of B 1s
thrice that of A and the temperature of B is half of that of A, Then find the ratio of number of
molecules of oxygen in vessels A and B.
Boco JFgden A SoBoin B EER ¢dn &) oW T3 B 03008300 A £ 0thox). B &’
DEA30 A DETS 20rc B Sndakn B &8 A & didw wawd, A 2Bakn B o0&
58,20 R NS Bvded.

Options :
1. 1:3
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, o 1112
3_3;;3:4
g% 1:6

Question Number : 83 Question Id : 813561243 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body of mass 10 kg has constant velocity of 10 m.s™*. A constant force is applied for a
duration of 4 s on the object and gives it a speed of 2 m.s™" in opposite direction. Then find

acceleration produced in it?

10 kg G303 £D0% 8 390 10 m. s Srio DA B. 4 5 w0 e & 390 s
28 f‘gd ) SUXfEND ShTd, Bb 3889 A%5° 2m. 57! Hrded E0TAod. o,

& 5008 &5 SR dodd ST Tobod?

Options :

1 % 3 m.s?

5 & =3 m.s 2

3 % 0.3 m.s™?

i -
4 % 03 m.s

Question Number : 84 Question Id : 813561244 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A ray of light travels from a medium of refractive index 2 to another medium of refractive index /2.
Total internal reflection takes place when the angle of incidence is

26 o 36020 2 8599 HNEAD A oEPEAD Mol 12 38558 Angaw Ay 8 airdée
'8 58255940 B0, D D89 Erdw 36 8 0 6100 RoRPTOI6 DBIGI BotoRy?

Options:
1 % 30°

, o 45°

. 60°

. 80°

Question Number : 85 Question Id : 813561245 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of displacement to distance for a moving particle 1s

BOBe O Srdw S FdFoBDW HBAD Erove ind

Options:
Always less than one

- DV 2E0S0E B8 D

Always greater than one

- DV 20EBS08) L) D
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Always one.

3 % DYDY 2,88

One or less than one.

AV 288 I WSS B8),

Question Number : 86 Question Id : 813561246 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a p-n-p transistor working as a common-base amplifier. when the current gain 1s 0.96 and
etter current is 7.2 mA. the base current 15

28 pn-p ARG o) d G S0 HIWID xS DI 5, 0.96 woaty
&r6So 3@595 QT 7.2 mA wond emd 3@55 DT Jesd

Options :
1 % 0.4 mA

L« 0.2 mA

. v 029 mA

4 = 0.35 mA

Question Number : 87 Question Id : 813561247 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When a body moves in a circular path. no work 1s done by the force, since

3T SrGod’ DHMAD) w8 HNHP Lo H0D NS B BOATED. JoGSIT

Options:
There 15 no net force
. S0 2o T

There 1s no displacement
g"?{:&gﬁo%‘o [3{aN)

Force 1s always away from the centre
SomrRS Ardel™ o DAWRH

Force and displacement are perpendicular to each other.

A g0 SBoL ?agc?m 2,835 €8 woeTe

Question Number : 88 Question Id : 813561248 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The triple point of water is

DB G Dod)

Options:

1 % 2739670

5> 273.16 K

3 x 273.16°F
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4 % 015K

Question Number : 89 Question Id : 813561249 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a circus. a stuntman rides a motor bike mn a vertical circular track of radius “ v *. Find the
minimum speed he must maintam at highest point of track?

RO 6 28 )8 8 I P8S J 1 mﬁéﬂg;ﬁn 10 2,6 DAY HTTC Argawd
(402 vo S0BE" 63) 3)308") HMHAT)E. (3 Argn dWE), &8 Dodsy
36 APt pdey AR0g) S0 S BYAW.

Options :

Question Number : 90 Question Id : 813561250 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Given figure shows the north and south poles of a permanent magnet in which an ‘n’ turn coil of
cross-sectional area ‘A’ 1s resting, such that, when a current ‘1" 1s passed through the coil, the
plane of the coil makes an angle ‘0" with respect to direction of magnetic field ‘B°. If the plane of
magnetic field and the coil are horizontal and vertical respectively. the torque on the coil will be

GE0GI0 T o w8 TS BAHT)0mrd) Dot LPHHLIT Gomrd. BAS" ‘4" ehE o
2TVo gdhx 0’ 08 (R DR Got), BT T 3@595 A DIeTod B, 8 @f’im%} o
@0 0o ‘B’ 338 6’ Erao Bi08. 0D 08 EPduo LW LILBLLY HERT
RATod6 2BAD) VoroTT &) Trad, &8 AL DB LG, Jod?

G

Coil
i)

[+]

Options:
1 % NIAB cos ¥

5 x NIABsinég

, » nIAB

None of the above since the magnetic field is radial

) w OV 0 ES0 m&é‘go DoBIE S0tILDVN, DD D) 5o

Question Number : 91 Question Id : 813561251 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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AU fjoules)

The variation of PE of a harmonic oscillator 1s as shown m 0.04

the figure. Then find the spring constant

o) ¢ Budin dwg, Hie $56° Ardo duaws’ ot

Arondat. savs, o D)o rosian skjed? 4 = W }. ::m]
'

Options :

| % 1x10* N.m™

g
5 & 150 N.m

3 % 0.667 X 10 N.m™1

4% 3x 102 N.m™!

Question Number : 92 Question Id : 813561252 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Strength of gravitational force compared to strong nuclear force =

ART(EEE Lo ORD Sogs wered TS =
Options:

-39
1@ 10

-13
5 % 10
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3 % 10+

Question Number : 93 Question Id : 813561253 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding stop 1 10 m. During this process, the force on the eyele due to the

road 15 200 N and 1s directly opposite to the motion. How much work does the road do on the cyele?

28 P3O &5 20D wear(E) 10m 0" esian. & piane’ pden AT O plevp
§c 200N £erD) DOIFAodR. 8003, & plevp T dod DA R’

Options :
1. % 20007

5 » —20007]

Question Number : 94 Question Id : 813561254 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A fully loaded Boeing air craft has a mass of 3.3 X 10° kg. Its total wing area is 500 m?. It
15 1 level flight with a speed of 960 kmph . Estimate the pressure difference between the
lower and upper surfaces of the wings.

2OIrBHuE QPO Dodd 28 6 0oh DArdEw @303 3.3 10° kg. = B8
30w JTU0 500 m?. ©8 960 kmph S 2.8 g“cmef AODSD) 8. 880 Sob),

D GBSV MG DED AT WotsT Hafod.

Options :

| % 45x10° N.m™

, % 55X 10° N.m™?

103 —2
3.#6.5><10 N.m

4 % 7.5X10° N.m™?

Question Number : 95 Question Id : 813561255 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

One end of a string of length ‘I’ 1s connected to a particle of mass ‘m’ and the other to a small peg
on a smooth horizontal table. If the particle moves in a circle with speed ‘v” and ‘T is the tension
in the string. then net force on the particle (directed towards the centre) is

I TED) S0 w8 T s D36 ‘m’ GO(0°3 (10 28 SEP) S8 Botisd WG £82 MAFodl
0 D (0 O) D0 SEPd. &8 S8 v’ SAS QYD HTTEAT SOMS) Yy gt
(& T oand, 58 Sodaw 32 6w 208 weo Budod.

Options :

v T
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T+muv?2

3 ® [

T—muv?

Question Number : 96 Question Id : 813561256 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A radioactive sample has an activity A 1n ar. If the sample is kept inside water then its
activity A’

& g 6&01:“:5"695 darT Soiravd A Sﬂﬁoinal&:. &3 DArT DOS° Bobd Trd
dosrdvs A’

Options :
becomes less than 4
A So0é 9255‘.33};5
1. %

becomes more than A

5 % A So8 S0) DD

1s same as A
3 v A DIEII0

will be less than or equal to A depending on the density of water
4 % A Sof) B85 TT VATV VI D& FroGd D BETEHEIR
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Question Number : 97 Question Id : 813561257 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Dimensions of & are

£g GIVE) DBV

Options :

ML AT
1.4

L« MOLT3 T2 43

. x MILETIA

.« MO E A

Question Number : 98 Question Id : 813561258 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the angles of dip at two places are 30° and 45° respectively. then the ratio of horizontal

components of earth’s magnetic field at the fwo places will be

Goch) DE%A00E° Bde Srren Svor 30° . 45° wand & HEIANVE’ Zr LoHI) o8

£0 0w £ DITeds woTw Ad

Options:
v V3142
, % 1:V2
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Question Number : 99 Question Id : 813561259 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Lenz’s law is a consequence of the law of conservation of

So& Ao QBB DEoAEBeDD DOJHI D

Options :
Energy

R

Charge

5 % BDBDW

Linear momenta Iy

L x POY Se3saw

Electric flux

3&3}5& 29T IS0
4, %

Question Number : 100 Question Id : 813561260 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Two tuning forks X and Y are of frequencies 280 Hz and 284 Hz. A third tunming fork Z is of
unknown frequency. when X and Z are sounded together certain beats are heard per second. When

Y and Z are sounded together beat frequency 1s found to be thrice as great. The frequency of Z 15

Oocd) 3ydcoetren X doiw Y ij"bﬁ‘.@m}g&u 280 Hz 200aiw 284 Hz. dords 3y8dokan Z
FapRgan Bhabehd. Fnddoren X aboin Z e £y dayodTedFon. fdceme Y
anfain Z en %15& Dyodren X, Z e fafib D 0STO5) P DL LoNS 3G Z
I

Options:

| % 282 Hz

, % 286 Hz
3 % 280 Hz

4 v 278 Hz

Question Number : 101 Question Id : 813561261 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Three capacitors of capacitances €; = 2 uF, €, = 3 yF and C; = b uF are connected in
series. A potential difference of 155 V 1s applied across the combination. Choose the right

answer from below options

0P Sarot® € = 2 §F, C; =3 uF, C3 =5 iF 363¢° 50D &) 0. & NOTPTDS

155 V & FaQane Sread 0:0000am. 308 arde 90 90005 Ba°e0

Options :
Least potential difference is across C; C; Saronb TBYonE dre £
Equivalent capacitance of combination is (E) BF  “omraan aoer 358 (ﬂ) UF
31 : S =8 1
The voltage across C; 15 75V C, 3FN6 75V
1.¢
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Least potential difference 1s across €C; €, Sarned ﬂ“@;}j@mﬁ A £DHa0

Equivalent capacitance of combination is (%) BF  womesan @00y 3 e (ﬂ) uF
2 i 51 '

The voltage across €5 15 50 V C, 3FrHb 50V
2. %
Least potential difference 1s across Ci C; Sarned TaQone B £DHha0
al
Equivalent capacitance of combination 1s (2) HF  soredam ae) 3 IHa (ﬂ) iF.
! 31
- The voltage across €315 30V Ca BFH6 30V
Least potential difference is across C; C, Sarotb S"ﬁ@o&;eﬁ S E0haw

Equivalent capacitance of combination 1s (ﬂ) uF sacsy (30
21 RO B00§ Saln) ¥ UF.

L The voltage across C; 1550V C; Sarneb 50V

Question Number : 102 Question Id : 813561262 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

I a series LCR circuit. the inductive reactance is twice the resistance and the capacitive reactance

is 1/3™ of the inductive reactance. The power factor of the circuit is

8 LCR 363 dwabind” s 506, 264 Boch 5w ooy i 5880
D08 DOBEANE' 1/3 5 Do T 43) 8, 0003, & HUOHI TS =

Options:
1 . W’ 15
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4 % 05

Question Number : 103 Question Id : 813561263 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The deflection produced in a tangent galvanometer whose coil has a resistance of 9 Q 15 30°.
The potential difference across the coil 1s 4.5 V. If the number of turns i the coil 15 10. the
radius of the coil is (eiven By = 3.14 x 107° T)

EPodol) Trer e oycires* s €08 BN 9 Q DHEHAN 30°, A ek THIADS S

45 V. ricony Roapf 10 w08, oty T¥rgin = (6030 By =3.14 X 1075 T ]

Options:

| % 2V3x1072 m

=
, »10V3x107% m
- e 102
. 6 X107 m

3.

- —=2
4 % 35x107% m

Question Number : 104 Question Id : 813561264 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An ideal Carnot’s engine with an efficiency of 30% operates between a source and a sink. If the
temperature of the source 1s 500 K. that of the sink 1s

28 e.edd;, 5"6‘1 QoA agnman 208050 FSVHOHID mqg 30% GESS ::D:ﬁmx:i&.
eg"éom:m agﬁga 500 K e5008, 23 505280 egﬁge:a SVt

Options :
1. % 27°C

, » ST

3 v ¥19€C

4 % 107°C

Question Number : 105 Question Id : 813561265 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The diagram shows stress vs strain curve for the materials .

A and B. From the curves we can mfer that odwo| A

Ooce) ETren A 20dain Ben d wwan D58 S57en

v

To & Gra). 3570 Aod 3Doind davéh?
Strain
DG‘;)G
Options :

A 15 brittle but B is ductile

1 % A %020 Ry, B rrbde (ed)
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A is ductile but B is brittle
A Foe 0d, B %008

Both A and B are ductile

. A 208030 B e Botir Frrhoe Hed

Both A and B are brittle
4 % A S306030 B e Sodd %R0

Question Number : 106 Question Id : 813561266 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ball 1s projected upwards from a height h above the surface of the earth with velocity v.
The time at which the ball strikes the ground is

57 P 00l h A S 8 00 I DT Dcsd Doy, 098 2P BHLL

:J%JD SPOS0 Joeh?

Options :

i[1+ /zgﬂ
g8 v
1. &
i[l— I1+E]
5 % g g
3\1+ 11+ Zg;"]
g v
3.

4. %
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3\1 4 jp* +2—f]
g v

Question Number : 107 Question Id : 813561267 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Aforce F = (57 447 ) N acts on a body and produces a displacement 5= (61 -57 +3%)m.

The work done by the force is

w8 S0 Do F = (51 +47 ) N s 538080 § = (61 -57 +3k)m Fisziossn
$9ARLONE, &5 wed BOD B

Options:
1.« 1017

5 % 207

5 % 307

4 % 4017

Question Number : 108 Question Id : 813561268 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

First law of thermodynamics 1s represented by

&QASS TR AWGEL DOLEBW BSTEAD

Options :
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. dQ = dU + dw
dU = dW + PdV

% dW =dQ + dU

, » AU = dQ + PdV

Question Number : 109 Question Id : 813561269 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A disc of moment of mertia I; 1s rotating with an angular velocity wy. Another disc of
moment of mertia I, which 1s not rotating. 1s gently put on the first disc. The angular
speed of the system will be

BESG 8AL [ 60 28 Hus w; Feoh S8 Faonaw Bamd) &, 268
gra0gan I $9B. Dorunes’ &) 8¢ Heghy 2ds HusH ) BT Botrd.
SRR, & B Eriod 9¢ =

Options :

(fl+12)
—=w
% t
Iy
Wy
Lkt
s
w
E :

1. %

2. ¥

3. ®
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Question Number : 110 Question Id : 813561270 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Light from a source travels out with a velocity “c’. If the source moves away from the
observer with a velocity ‘v". then the relative velocity of light w.r.t. observer is

28 RAEAD A0l 0O ‘c’ DHANS WOHOLL DLNICHRB. &3 BAEAN HBTVHD Aol
Arere v’ e Ty, & 209080 aagné o FE AN Jod?

Options:

1.+ €

) % €+ UV

3.33 c— P

Question Number : 111 Question Id : 813561271 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following sets of concurrent forces may be in equilibrinm?

2o =5 mmwi‘g@é“ Eolfe) RS were) T

Options :

1

'« FL=3N, ,=5N, ;;=10N
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F,=3N, F,=5N, ;=9N
F,=3N, F,F,=5N, EE=6N

F,=3N, F,=5N, F;,=15N

Question Number : 112 Question Id : 813561272 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Radiations of intensity 0.5 W.m™? are striking a metal plate, the pressure on the plate is

0.5 W.m™* H386" D3crren 8 &P DS BDATSA VAVIYYD, 8 DU
DERBD Jods?

Options :
|« 0166 X 107% N.m™?

5 % 0.332%x10°% N.m™~

5 % 0111 x107% N.m™

4 % 0.083 x 1078 N.m™2

Question Number : 113 Question Id : 813561273 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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What 15 the phase difference between two particles 25 m apart in a wave represented by equation
y = 0.03 sin(rm [2t - 0.01 x]) travelling in a medium?
28 0HEAS’ DOIrERR) BBy Arded vg6man v = 0.03 sin(r [2t - 0.01 x]).
I0oriANY’ 25 M GrGed)” Goli Botd) SIFR H0E| GTHE Vo

Options :
1 % T/8

5 o /4

3 % /2

Question Number : 114 Question Id : 813561274 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A weightless bag 1s filled with 5 kg of water and is weighed in water using a spring balance.
The reading of spring balance 1s

28 BD5a0 20D 5 kg ABE Dod, S’ LY )ofh T8 EDEh. B ©
2yof TR0 BEoh BUdoC..
Options :

1% 5kg

5 % 2.5 kg

3 % 1.25 kg
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Question Number : 115 Question Id : 813561275 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of specific heats at constant pressure and at constant volume is ‘y". To find out
the degree of freedom. the expression 1s

%‘.ﬁdf}déo «B03W fgﬂmbﬁﬁmm e 3)-93;1“%"9.3 A8 Y. wond, (Ped 280

ERFITIE 058 HEGH0
Options :
_ 2

1Le ¥

= r+i
2% T 2

f= 2
3 % N y+1

i 1
g% rHl

Question Number : 116 Question Id : 813561276 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the centripetal force acting on a coin weighing 0.1 kg. placed 0.1 m from the centre on
a gramophone disc rotating at 600 rpm.

600 rpm & (AL 600 Zoerw) SO TR Hog Sodaw Aol
0.1m Grdang’ gowsedtd 0.1 kg ) (o THAW 2 DB dFoGavAn Jod?

Options :
1w 41’ N

, x 40m° N

Question Number : 117 Question Id : 813561277 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Using the data given below. find the height at which a communication satellite can reside.

Sof STroT ) &A1 Aow), NATEEE &R0 VotBotd BN BVdoC..

(G=667x107 " N.mikg™®. M=598x10"kg. R=64x10%m)

Options:
1. ¢ 35850 km

, 4 3585 km

. » 3585 km
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4 = 35.85km

Question Number : 118 Question Id : 813561278 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Find the stress developed mside a tooth cavity filled with copper when Lot tea at temperature of
57 °C is drunk. You can take body (tooth) temperature to be 37°Cand @ = 1.7 x 107° °C™%,
Bulk modulus for copper B = 140 X 10° N.m™%.

57 °C 3¢ 3¢ & T Th & Dodid Bogrensd) DY &'Dv wﬁaag RI00A DA VAW
Sofido. 306 (by) 6d'd 37°C oA @ = 1.7 x 107 °C" 0Bokw ek Measdw
B =140 x 10° N.m™

Options :

108 =2
v L4x10° N.m

5 % L9x10° N.m™2
3 x 2.0x10° N.m™
4 % 34x107 N.m™2
Question Number : 119 Question Id : 813561279 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The speed of a uniform solid sphere after rolling down from rest without slipping along a
fixed inclined plane of vertical height ‘h’ 1s

Q) o h’ e %d@é T SOAW Jot)t bé‘)ui{gé ot 2GS SoBS EPBOD)
D808 D03 ATAn ¢ =
Options :

10 gh
7

1.4

N
#
Ey

6 gh
_ 2
3, #
4 gh
3
4, %

Question Number : 120 Question Id : 813561280 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a rectangular coil is rotated in a uniform magnetic field about an axis passing through
its centre and perpendicular to the field. the emf induced m the coil varies

DE63 L0 08 ZB3VS’ 18 BEIACTTE S T o ot T,
£E°38 Lol3D’ Gol w8 LA DI GNP, &8 tHRY” 2B DEETVEIVI)

2T,

Options :

AP EAMCET 2020



AP EAMCET 2020

linearly
1 % DB

exponentially
5 % DITT oS ﬁg@@ﬁ

simmusoidally
3 @ aavsaéomorr

laterally
4 % &&gﬁmm}rﬁ

Chemistry

Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 813561281 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following pairs of solutions is expected to be isotonic at same temperature?

$o8 EeTY 200LY" 28 &0 6 DIE'IE ITL SIS ©ITRAND) 2ok IB?

Options :
0.1 M Ureaand 0.1 M Na(Cl
1 % 0.1 M alarrdoir o8odw 0.1 M Nall

0.1 M Glucose and 0.2 M NacCl
, x 01M 6r88 Sodai» 0.2 M NaCl

0.1M NaCland 0.1 M CH;COOH
3 % 0.1M NaCl &8c30 0.1 M CH;COOH

0.1M NaCland 0.1 M KNO;,
4V 0.1M NaCl &6cin 0.1 M KNO,

Question Number : 122 Question Id : 813561282 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When equal volumes of Ca*? and F~ solutions are mixed, in which of the solutions
precipitation will not occur? (K, of CaF, = 1.6 X 10717)

DARD 20DBATHAN (10 Cat? SO0 F~ 00ird) 6o Tarreky 3o SorT, &

S0 TS AV’ L0 A6YEAL? (CaF, avg), Ky = 1.6 X 107)
Options:

v 1072M Ca®™® + 107°M F~

, % 107*M Ca*™ + 1073M F~
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5 x BOTEM 0¥ o H0TEMES

, x 1072M Ca*? 4+ 107°M F~

Question Number : 123 Question Id : 813561283 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following molecule/ 1on. all the bonds are not equal?

EoHTAS’ 2,3 DAH0ND Lolren S D)/ 03TD B ?
Options :
XeF,

1. %
BE,~

3. CZHfi-

s SiFy

Question Number : 124 Question Id : 813561284 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following will have the highest pH?

o8 65" S3(6S pH (o DE?

Options:

1.4
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Saturated solution of NaOH
NaOH %oy? T

1 M HCI solution

5 % 1M HCI gradeasd

Human saliva

5 5 TR TRV

Lemon juice

:}m&’ G5

Question Number : 125 Question Id : 813561285 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is used as flux in the extraction of iron from oxide ores?

5316 TP Aol BRVL ALY, Bordows) G558 TOTE.

Options :

| % Si0;

, o CaCos

3 & Cal

CasSiO;
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Question Number : 126 Question Id : 813561286 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s 4 in the following reaction?

Sod WO &5 SO0 A Daed?

CH»CI
+ le FeCls
Options:
CH,Cl
Cl
1. %
CH,Cl
Cl
2. %
3. %

CH-C1

+
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CHj

CHCl,

4, #

Question Number : 127 Question Id : 813561287 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is an example for non-benzenoid aromatic compound?

308 T TI-BoTont 2B S8 R3] Fda50 28 ?

Options:
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CH;

Question Number : 128 Question Id : 813561288 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the exact orbital from the following for whichn =4andl =1

n=4.l=1o a:a&@mma Gﬁaw"@ﬁ} &S T8 Aded sm&"&ad

Options :
1. % %S

4. v P
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Question Number : 129 Question Id : 813561289 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following complexes can named “Dichlorido -bis- (ethane- 1, 2 -diamine) -

platinum (IV) nitrate”

30870 * ¢ §08 -0 (&85~ 1,2 -200S)- Fo (V) 266 ° 1 Hewswdés D67

Options :
1« [Pt Cl; (en);] (NO3),

2 % [Pl“ EEZ {:E"ﬂ_\}z] (1"'1;03)4

3 % [Pt Cl; (en),(NO3)]

4. % [Pt Cl, (en),(NO3)]

Question Number : 130 Question Id : 813561290 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

SFg 1s a kinetically inert substance because

SFg 561 Beeh (yal. 226 DG L) S 6880
D 9% § &

Options:

Fluorine 1s highly electronegative
0 o 2wm DTS SS SHA Qo SR

1. %

It 15 sterically protected

ﬁ‘éﬂ)@ﬁﬁjm}}ﬂ“ 08 el Gott) dHOD
2.9
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Greater difference m electro negativities of S and F
_ S H803n F o 2060 3@5;:“@&5@@6‘5 JJS%:) Bo SGotdl) o

Larger size of § atom
4% 5 DOATEVY IS, DOATEIDW ::cga SUa)R

Question Number : 131 Question Id : 813561291 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following reactions produce ethyl cyanide as a major product?
& 0BT IS ab GO0 HES VOIFRE D PEERD ESyD) AT G\ OW ?

(CHy0),0

(CH50),0 —
1) CHyCH,CH = NOH ———, ) CHsCH,CH = NOH ——
e K¢ . 3398 KCN
2} CHgCHECI ethanolic KCN 2) [:Hj}{‘.aHz(-I
ethanolic AgCN aabE AgcN
3) CHyCH,Cl —— 3) CHyCH,(l ———
CsHsS0,01 CeHs50,C1

4) CH;CH,CON(CH;), —’Pmm o 4) CHyCH,CON(CHy), — e
Options:
1% 1,3
5 % 2, 3
3% 3, 4
2012
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Question Number : 132 Question Id : 813561292 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The defect produced due to the presence of extra cations at inferstitial sites 1s called

B8 rwg wo@U“%*bnﬁmé‘l rP0s’ 308 SRR &J8 S0P D §HAY Ddbmmo&?

Options:
Metal excess defect

| @ V08 55 &%

Schottky defect
el S"DA0
2. #®

Metal deficiency defect
5w TS SDA

Frenkel defect

) D0ES DA

Question Number : 133 Question Id : 813561293 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify ‘X’ in the following reaction

S0 t:ﬁthS?f}'ﬁ ‘XD oBotioct

(1) O3
r.X? -; 2 O
(ii) Zn-H:O
Options :
O
1. %
2. %
3., %
4.

Question Number : 134 Question Id : 813561294 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Suitable conditions to prepare hexachlorobenzene from benzene is /are

o2 Aot TSy gﬁﬁ Fo& A S0IrE WOl T a&fgmw
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Options :
Cl, (Excess), Anhyd. AlCl;, dark, cold
Cl (08¢), ©¢ AlCl, DES, B

1. %

Cl, (Excess), Anhyd. AlICl;, A

Cl; (e988), w6 AlCI;, A
2. # @

Cl, (Excess), Anhyd.ZnCl,, A

Cl, (0988), 6 ZnCl,, A
3. % =

Cl, (Excess), UV, 500 K
CL, (0088), UV, 500 K
4.

Question Number : 135 Question Id : 813561295 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following outer octahedral complexes have same number of unpaied electrons?
400" Aad EPIr] OROVS “ﬂoéa"w RATD “@o&)}geﬁ‘ 2000 JTFTHW <9 &d)?

1) [MnCl]*
2) [FBFG]S'_
3) [CoF*"
4) [Ni(NH;)¢)*

Options :
11 &3

oo 1&2
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;2 3 &4

4% 2 &3

Question Number : 136 Question Id : 813561296 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a plot of log (::_:) vs logp . for the adsorption of a gas on solid. a straight line 15 obtained.
The slope of that straight line 1s

208 bwg;ﬁngg W8 TOIND) AT TS PotoBedd l{:-g% vs logp v 3@ DI w8
RO¥ DM 39, 88 WOFOD T Jodh?

Options:

1

1.4 11
2. % K

i

4 w logK

Question Number : 137 Question Id : 813561297 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Hydrogen peroxide 1s

TERD DUSE
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Options :
An oxidizing agent
28 e38\566h

A reducing agent
5 % € S0DECE

Both an oxidizing and a reducing agent
e35S0ed 0Bk SabEses

Neither oxidizing nor reducing agent
e33\$063 S°E0 2B SaNESE S

Question Number : 138 Question Id : 813561298 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Hydrolysis of proteins gives:

T 2o e’ ANAATY

Options:
[— Amino acids

- B-dS esdren

y — Amino acids

- DS e3T°en

d— Amino acids
. 5- QS esdTen
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a — Amino acids
o DS esdren

Question Number : 139 Question Id : 813561299 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The order of acidic strength of following acids 1s

So8 :AT° 5:0LIVHAN AB0E), S0

CO:H CO-H CO-H

CH.CH;: OCH3 NO»

(i) (ii) (iii)
Options :

1w (i) > () > @

) () (i) > @

s o (i) > () > Gi)

4w )= 1)> ()

Question Number : 140 Question Id : 813561300 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

How many compounds can be formed when carbon combines with oxygen?

56y, 8318 § 882 Ay DA FIrew DB EhwD?

Options :

1.v 4

Question Number : 141 Question Id : 813561301 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represents structure of Sulphapyridine?

&S oeedes” "’mwﬁ:ﬁ&& K)U"éﬁorﬁj 3008 67

Options :
7
LN SO.NH— C
b
NH>
1. %
HoN SOpNH \
N R
2.
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CH;
H
HN SON
™~
CH;
3. %
N
HN SO,NH —( \
N—
4. %

Question Number : 142 Question Id : 813561302 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The density of oxygen gas at 5 atm and 127 °C will be

127 °C 208ad 5 atm bcg Hébz&.f) Fofsch

Options:
2.80 g/L

1. %

, o 488g/L

5 % 149g/L

4« 5:60g/L

Question Number : 143 Question Id : 813561303 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following changes decrease the vapor pressure of water kept in a sealed vessel?

28 S B PGS (10 A ey DEDAD Soid GEPBODND ArENLE’ B 0 BrB000?

Options :
Decreasing the quantity of water

56 DB BHoDD AbEY
1. % £

Adding salt to water
S v QS &y $HBI

Decreasing the volume of the vessel to one-half

- F¢ DoRDBATTTD) VIS BREDD)YE

Keeping the temperature of water constant

D8 T ABI0 DEIVIT EoDDLNED
W £3 @

Question Number : 144 Question Id : 813561304 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The types of hybrid orbitals of nitrogen in NOF, NO; and NH; respectively are

NO3, NO3, NH{ 0" DE'ES g, 3056 58,y SEdm

Options:

| % Sp, sp>, sp®

, 5P, P, sp?
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3 @ S.pE: sp, S.pE

4w SP% sp®, sp

Question Number : 145 Question Id : 813561305 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

On the basis of which physical property separation of different fractions in fractional
distillation technique takes place?

LS 03 B PIAY, ) B8 B6)0 Brrderr B(H) 0TV DEOFR?

Options:
Solubility
| % TOroks

Freezing point

20DBID Do
2. % @

Boiling point

e BB Fdo
3.¢ -

Melting point

BDBIHD Fdo
4, % e

Question Number : 146 Question Id : 813561306 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The alloy which contains 95% aluminium and small amounts of copper, magnesium and

manganese 18

208708 95% sardabe. §8 vy’ th. 20f) Habe S8 7DD v
$DhaoRy IS’ hBotsed.

Options :
Magnalium

- ;jfrr‘lﬁiojao

Aluminium bronze

- wwj&ﬁ;ﬁoﬁ:o g0

Invar

3 % "E?E"SS

Duralumin

A O[TV

Question Number : 147 Question Id : 813561307 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A compound X. of boron reacts with NH; on heating to give another compound ¥ which 1s
called morganic benzene. The compound X can be prepared by treating BF; with Lithmum
aluminum hydride. The compounds X and ¥ are represented by the formulas.

X 03 80 R ¥R N, 8 w0y Jod YTTRS Hoe) VIWE 1 6 D} FHAW
ANDIA. BF; & DActo LoD Py & 6] 200 X R0 Soirdy doiy . X

Hdon ¥ © &méwm Aroeida)

Options :
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. BaHe, B3N3H,
, 4 B203, BsN3Hg

, » BFs BsNsHq

4. % B3N3Hg, B,Hg

Question Number : 148 Question Id : 813561308 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A beaker contamning a mixture of hquid A and liquid B. i equilibrium with each other, 15
cooled very slowly. If point ‘D’ on the graph is where solidification of both liquids is
complete, how many different phases coexist along line ‘CD’ if freezing point of liquid B and
liqud A are —25°C and —78°C respectively.

28 A8 wEH :amw;'gaé‘ &) A, B 40 3dodw fo DS orer ) BT e
BT 6 HEHE VoeloGedd Srrd3ns’ D ot 3¢ Tt Grer YrorT

20 Dotrow. $5:00 B 2808 350 A G0E), LAY FTL0 ST —25°C
Sobosn —78°C eowd CD B2 ot SO God DG (300 ) ?

25 ==~

10 plj| 0 Tine (bes)
o (fo.)

Options :
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Question Number : 149 Question Id : 813561309 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following substances has highest value of standard molar enthalpy of
formation at 298K?

298K 56 308 f‘.:»a“g“e.:-eﬁ*s B8 SS(BS DATH AT VoA Do;;:“@)g Eotod ?

Options :
1. ¢ N EIFES],

2 % lﬁn'rﬁ'CE['S].

3 % Na B?_fs}

4. % N&ffS'J

Question Number : 150 Question Id : 813561310 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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For the cell reaction 3Sn** 4 2Cr — 3Sn®* + 2013, E°

cel

;15 0.89 V. Then AG® for the

reaction is

3Sn4 + 20 — 3Sn2* 4 2013, ko ES,y = 089 V. ey t56) aiogy AG° =

cell

Options :
1 ¢ —515.31 kl/mol
5 % —125.41 kJ/mol

3 % —457.41 kJ/mol

—347.40 kl/mol
4. %

Question Number : 151 Question Id : 813561311 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Fructose reduces tollens reagent due to

2R, PO, SO LaDECE0 BOKLLL S6e0

Options :
Primary alcoholic group

2300 €50 5500 DA
e

Secondary alcoholic group

DEod e50)) 55 DA

Enolization of fructose followed by conversation to aldehyde by base

- 288 SSST A8 SDB TGS O[S’ Bré mr oo
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Asymmetric carbon atoms
. 0D S6)D DEJITENPHLD

Question Number : 152 Question Id : 813561312 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following statements 1s incorrect for manganate and permanganate ions?

AP, DOATOHIES B0ird DRaHAE” SBTS 20 529 IAN DB?

Options:
Both ions are tetrahedral structure
. 00t 90irds) weoc) HOK T80 ol

In both the ions. pmr — dr bonding 1s observed between oxygen and manganese

Toc) OSPHS AT pr — d7t woGAW B3\ED, Ao B0 &obd
2. %

Both 1ons are paramagnefic
 Ootr T 03 0 6L AW (o aIrAe

Permanganate is stronger oxidizing agent than manganate
. 2070 ST DOA7IDE LI0B0ND esé:ﬁdeﬁ

Question Number : 153 Question Id : 813561313 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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After balancing equation C,02~ + Hf + Mn0;, — €0, + Mn** + H,0 . the coefficient
of CO5 15

0 +H' + Mn0; — €0y +Mn™ + Hy0 e56{% doejo 3% S68, €0, avg)
HoEs0

Options :
1.% 4

3.v 10

Question Number : 154 Question Id : 813561314 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of protons. electrons and neutrons in a species are equal to 17,18 and 18
respectively. Which of the following will be the proper symbol of this species?

28 ad gﬁéﬂ“@, J}Ug“fsp 0bodn a‘mlg;_ergu SdowrT 17,18 oBotn 18. $08 e’
ANIRITCITAARATIT STV

Options :

BEClr

1331?'

35

2 I?CI_
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Question Number : 155 Question Id : 813561315 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solubility of A,X5 1s *y” M. Its solubility product is

A, X; Troe3aied ‘v M eand, o°d mrasahoe BIAREY

Options:
-4
1. % 6y

, « 64y*

3 % 367°

4 v 108y

Question Number : 156 Question Id : 813561316 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a thermodynamic system. which among the following is not a state function?

$0BTVE’, EQABSISVS’ DA HRALAD 506 B ?

Options :
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Enthalpy
DOGF b;}

Internal energy
e90h0S 33

Free energy

LTy 35

Work
4 e

Question Number : 157 Question Id : 813561317 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Name the kind of silicate formed when two silicate units (Si0,)*" share one oxygen atom.

Goce) 3L asrdtw (Si0,)* w8 e.iés&b.S DOATEVR DodET Q G8o HOEE f{)dhcf.am?

Options :
Chain silicate
Honw HOSES

Cycle (Ring) silicate
Hoab (Hsah) HHSES

Pyro silicate

- 28 2O
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Sheet silicate

=5 293

Question Number : 158 Question Id : 813561318 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many compounds given below are amphoteric oxides?
$06 )" ACRCETHI0VMD BFEd A 7

PEOEJ Pd»OEJ ASEGSJ ASq_OG, SbZOE’ SEJ&_OG, Bizgg

Options :

1.¢¥ 2
2. % 3

3.% 4

Question Number : 159 Question Id : 813561319 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In NO5 ion. the number of bond pairs and lone pairs of electrons on nitrogen atom are

NO; eoirdoe” REES DT wotiid JUTS otien LBk 2ot JUTD

Lot "ma:g

Options :
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, el

3 % 1,3

4.v %, 0

Question Number : 160 Question Id : 813561320 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

C — Cl bond in chlorobenzene in comparison to C — Cl bond m n methyl chloride 1s

P8 896 & o € — (1 & PO \3:eh 86 8108 & o € — 1 wodsidn

Options :
Longer and weaker

- FEIH0VIB, LOTI0VIA

Shorter and weaker
- TOE, BOIFIR00HE

Shorter and stronger

TS, L0000
3. % €3

Longer and stronger

4 % TEIHOVIS, LLA0VIA
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